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Ajmal National Talent Search Examination, 2008
Class : X

Time/a]Ì̂  : 2 hours /H³Oôç Full Marks/ ]ÇPö X¶�ö» : (25+25+25+25)=100

INSTRUCTIONS / ×XãVÛ̀ ç¾_Ý f
1. Attempt All Questions. / YÒãTöîEõäOôç YÒ̀ Â» =wø» Eõ»ç*
2. There are four options to each question. Choose the correct option by putting any one of a, b, c or d,

in the box / YÒ×TöäOôç YÒ̀ Â» $Jôç×»Oôç ×[ýEõ� =wø» ×VÌ̂ ç %çä$K÷* £�ù =wø»äOôç [ýç×$K÷ =×_Ì̂ ç+ EõçbTö UEõç [ýçEõ$JôTö a, b, c [ýç d ×_×F[ýç*

General Knowledge / açWýç»S pûçX

1. In which category have women won the maximum number of Nobel Prizes?
×Eõ ×[ý\öçGTö %×WýEõ aeFîEõ ]×c÷_ç+ X'ã[ý_ [ýgOôç _ç\ö Eõ×»×$K÷_ ?
a) Physics/YVçUï ×[ýpûçX b) Literature/aç×c÷Töî c) Peace/`ç×Ü�ö d) Economics/%UïXÝ×Tö

2. Which Sultan of the Delhi Sultanate is popularly known as 'Lakh Baksh' ?
åEõçXLX ×V{Ý» $JÇô_TöçXEõ "_çF [ýj' [ýÇ×_ LXç ̂ çÌ̂ ?
a) Malik Kafur/]ç×_Eõ EõçZÇõ» b) Qutub ud-din Aibak/EÇõTÇö[ý=×�X %ç+ã[ýEõ
c) Md. Bin Tughlaq/]c÷¶ö�V ×[ýX æOôçH_Eõ d) Alauddin Khiliji/%ç_ç=×�X ×F_LÝ

3. Which river crosses the Equator twice?
åEõçX XVÝãÌ̂  VÇ[ýç»êEõ ×[ýbÇ[ý å»Fç Yç» Eõ×»ä$K÷ ?
a) Nile/XÝ_ XVÝ b) Congo/Eõã�ç c) Amazon/%ç]çLX d) Orinaco/%'×»XçãEõç

4. If the 25th July in a year is Friday, the number of Tuesday in that month is–
^×V LÇ_ç+ ]çc÷» 25 Töç×»F £yÔ[ýç» c÷Ì̂  åTöãÜ�ö åa+ ]çc÷Tö ]�_[ýç» ×Eõ]çXOôç c÷'[ý ?
a) 3 b) 4 c) 5 d) 6

5. Who is honoured with the title 'AIFF Player of the year' ?
A+[ý$K÷» EõçEõ AIFF åF_Çê¾ ×c÷$JôçãY åHçbSç Eõ»ç éc÷ä$K÷ ?
a) I.M. Vijayan/%ç+ A] ×[ýLÌ̂ X b) Baichung Bhutia/[ýç+$JÇôe \ÇöOôÝÌ̂ ç
c) Sunil Chetri/aÇXÝ_ æ$K÷yÝ d) Deependu Biswas/×¥ãY³VÇ ×[ý̀ �ça

6. Mirza Ghalib was a poet in the court of–
×]LÛç Gç×_[ý åEõçX »Lç» »çLEõ×[ý %ç×$K÷_ ?
a) Alauddin Khilji/%ç_ç=×�X ×F×_LÝ b) Shahjahan/$K÷çc÷Lçc÷çX
c) Bahadur Shah Zafar/[ýçc÷çVÇ» ̀ �çc÷ LçZõ» d) Shah Alom-II/ �̀çc÷-%ç_] ×¥TöÝÌ̂

7. The earthquake which shattered 'Bhuj' in Gujrat occured in–
åEõçX $JôXTö mL»çOô» \ÇöLTö \Çö×]Eõ�+ W[ýea_Ý_ç $Jô_ç+×$K÷_ ?
a) 1996 b) 1998 c) 2000 d) 2002

8. The judges of the Supreme Court retire at the age of–
$KÇ÷×YÒ] åEõçOôÛ» ×[ý$Jôç»Y×TöaEõ_ ×Eõ]çX [ýÌ̂ aTö %¾a» GÐc÷S Eõã» ?
a) 58 years/[ý$K÷»Tö b) 60 years/[ý$K÷»Tö c) 65 years/[ý$K÷»Tö d) 70 years/[ý$K÷»Tö
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9. The Chairman of the Planning Commission of India is–
Y×»Eõ�Xç %çãÌ̂ çG» a\öçY×Tö åEõçX ?
a) The President/»çrÑôY×Tö b) The Prime Minister/YÒWýçX]Ü�öÝ
c) The finance Minister/×[ýwø]Ü�öÝ d) The auditor General/]c÷ç×c÷$JôçY Y»ÝlùEõ

10. 'Main Kemph' was the autobiography of–
"å]+X åEõ�' Eõç» %ç±ÁLÝ¾XÝ ?
a) Benito Mussolini/å[ý×XäOôç ]Çä$K÷ç×_XÝ b) Adlof Hitler/AL_Zõ ×c÷Oô_ç»
c) Franklin Roosevelt/ZÐõçáø×_X »ÓLã\ö·Oô d) Fiedel Castro/×ZõãQö_ EõçärÑôç

11. The 'Award of Best Actor'  in the 53rd Fair the Filmfare award was handed over to Shahrukh Khan by–
53 Tö] ×Zõ_½ãZõÌ̂ ç»Tö æ Ò̀�ö %×\öãXTöç» YÇ»�õç» ̀ �çc÷»ÓF FçX» c÷çTöTö åEõçãX TÇö×_ ×V×$K÷_ ?
a) Sridevi/ Ò̀ÝãV¾ÝãÌ̂ b) Rekha/å»Fç+
c) Helen/åc÷ã_ãX d) Poonam Dhilon/YÇX] ×Wý_ãX

12. Which of the following personalities belongs to Assam?/Tö_» åEõçX G»çEõÝ ]c÷çX [ýî×Nþ %a]» ?
a) Kishori Amonkar/×Eõã`ç»Ý %çã]çXEõç» b) Amjad Ali Khan/%ç]LçV %ç×_ FçX
c) Parveen Sultana/Yç»\öÝX $JÇô_TöçXç d) Rashid Khan/» �̀ÝV FçX

13. In which of the following North-Eastern states the Assembly Election was not held in 2008?
2008 $JôXTö =wø»-YÉ[ýïç�û_» åEõçX »çLîTö ×[ýWýçX a\öç» ×X[ýïç$JôX %XÇ×�öTö åc÷ç¾ç Xç×$K÷_ ?
a) Tripura/×ÅyYÇ»ç b) Meghalaya/å]Hç_Ì̂ c) Mizoram/×]ãLç»ç] d) Nagaland/XçGçã_�ø

14. In which year did the TITANIC sink?
Oôç+Oôç×XEõ åEõçX $JôXTö QÇö[ý éG×$K÷_ ?
a) 1812 b) 1892 c) 1912 d) 1992

15. If Shiv Kumar Sharma is to Santoor; then Hariprasad Chaurasia is to–
^×V ×`¾`]ïç aÜ�Çö» c÷Ì̂  åTöãÜ�ö c÷×»YÒaçV æ$Jôì»ç×aÌ̂ ç ×Eõ c÷'[ý ?
a) Sarangi/aç»çe×G b) Veena/[ýÝXç c) Sitar/×$JôTöç» d) Flute/[ýgçc÷Ý

16. The Indian Premier League (IPL) is organised by–
\öç»TöÝÌ̂  ×YÒ]ÝÌ̂ ç» _ÝG åEõçãX %çãÌ̂ çLX Eõ×»×$K÷_ ?
a) The Essel Group/×V +ä$Jô_ GÐÓY b) BCCI/×[ý ×$Jô ×$Jô %ç+ c) IPCC/%ç+ ×Y ×$K÷ ×$K÷
d) None of these/AOôçC Xc÷Ì̂

17. Who among the following persons bought the Sword of Tipu Sultan in London and brought it back to India?
åEõçX G»çEõÝ [ýî×NþãÌ̂  _�øS» Y»ç ×OôYÇ $JÇô_TöçX» Töã»ç¾ç_FX ×Eõ×X \öç»Töê_ HÇ»ç+ %ç×X×$K÷_ ?
a) Ratan Tata/»TöX OôçOôç b) Mukesh Ambani/]ÇãEõ̀  %ç¶�öçXÝ
c) Vijoy Mallya/×[ýLÌ̂  ]ç_Ì̂ d) Aditya Birla/%ç×VTöî ×[ý»_ç

18. The first film (talkie) produced in India was–
\öç»Tö» YÒU]FX $EõUç$K÷×[ý ×Eõ %ç×$K÷_ ?
a) Hatim Tai/c÷ç×Tö] Töç+ b) Alam Ara/%ç_] %ç»ç
c) Pundalik/YÇ�ø×_Eõ d) Raja Harish Chandra/»Lç c÷×» �̀$Jô³VÐ
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19. The 44th amendment of the Indian constitution withdrew which of the fundamental rights–
\öç»TöÝÌ̂  ae×[ýWýçX» 44 Tö] aeã`çWýXÝ ]ãTö åEõçXäOôç å]ì×_Eõ %×WýEõç» F[ýï Eõ»ç éc÷ä$K÷ ?
a) Right to Freedom to religion/Wý]ï Yç_X» %×WýEõç» b) Right to Constitutional Remedies/açe×[ýWýç×XEõ YÒ×TöEõç»» %×WýEõç»
c) Right to property/a�×wø» %×WýEõç» d) Right against exploitation/å`çbS» ×[ý»Óã�ù %×WýEõç»

20. The Mascot 'Rongmon' of the last National Games held in Assam represents–
%a]Tö éc÷ å^ç¾ç »çrÑôÝÌ̂  åF_» YÒTöÝEõ »e]ãX EõçEõ YÒ×Tö×X×Wý±¼ö Eõ×»×$K÷_ ?
a) Bull/bgçQÍö G»Ó b) Rhino/GgQÍö c) Tiger/[ýçH d) Deer/c÷×»S

21. 'Vividh-Bharati' is a programme in–
""×[ý×[ýWý \öç»TöÝ'' Eõç» %XÇ�öçX aÉ$JôÝ ?
a) AIR/%çEõç`[ýçSÝ b) DD National/»çrÑôÝÌ̂  VÇ»V ï̀S
c) Zee TV/×L ×Oô×\ö d) Sony TV/æ$JôçXÝ ×Oô×\ö

22. The fastest batsman in the history of Test Cricket to make 9000 runs is–
æOôrô ×yÔãEõOôTö 9000 »çS aeGÐc÷Eõç»Ý VÐÓTöTö] [ýîçOôaËã]X åEõçX ?
a) Ricky Ponting/×»×Eõ Y×³Oôe b) Sachin Tendulkar/ $̀JôÝX åTö�Çø_Eõç»
c) Brian Lara/[ýÐçÌ̂ çX _ç»ç d) Rahul Dravid/»ç§_ VÐç×[ýQÍö

23. 'One-Rupee Note' is produced by–
A OôEõÝÌ̂ ç åXçOô åEõçãX éTöÌ̂ ç» Eõã» ?
a) The Reserve Bank of India/\öç»TöÝÌ̂  ×»Lç\öÛ å[ýeEõ b) Treasury of Central Government/åEõ³VÐÝÌ̂  åEõçbçGç»
c) The State Bank of India/ærôOô å[ýeEõ %¾ +×�øÌ̂ ç d) None of these/+Ì̂ çã» AOôçC Xc÷Ì̂

24. 'ACCOLAND' amusement park is at–
"AãEõçã_�ø' %çã]çV =VîçX FX Eõ'Tö %¾×Ø�öTö ?
a) Guwahati/m¾çc÷çOôÝø b) Jorhat/å^ç»c÷çOô c) Shillong/×̀ _e d) Silchar/×̀ _$Jô»

25. Find the odd one out–
açVỀ î XUEõçäOôç ×[ý$Jôç×» =×_C¾ç---
a) Bank of India/å[ýeEõ %¾ +×�øÌ̂ ç b) Union Bank of India/+=×XÌ̂ X å[ýeEõ %¾ +×�øÌ̂ ç
c) Axis Bank Ltd./A×j$Jô å[ýeEõ ×_f d) Canara Bank/EõçXç»ç å[ýeEõ

English / +e»çLÝ

Pick up the correct synonyms for each of the following words :

26. He is a VORACIOUS eater
a) quick b) heavy c) wild d) greedy

27. The government is trying to ERADICATE malaria
a) Eliminate b) Cure c) Control d) Complicate

28. The CONSEQUENCE of crime is punishment.
a) order b) result c) manner d) cause

29. Cheek the CATALOGUE
a) Menu b) List c) Record d) Pamphet
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30. His performance was MEDIOCRE
a) Mild b) indifferent c) slow d) average

Choose one alternative which is ‘opposite’ in meaning to the given word :

31. SAGACIOUS
a) casual b) foolish c) cunning d) false

32. MAGNANIMOUS
a) selfish b) gererous c) small d) naive

33. TENTATIVE
a) Immediate b) Final c) Experimental d) Urgent

34. FRIEND
a) Rival b) Competitor c) Foe d) Acquaintance

35. MEAGRE
a) Plentiful b) Excessive c) Average d) Extravagant

Choose the correct options from the following alternatives a, b, c, & d.

36. The Medical council _____________ his name from the register of medical Practitioners.
a) struck off b) broke out c) set down d) pulled up

37. I never believe in verbal talk ; so let us have an agreement ____________
a) black and blue b) in black and white c) beck and call d) in red handed

38. I have no money in hand but I have a multi storey building _______ hand.
a) at b) by c) on d) with

39. The diminutive of ‘Lock’ is _______________
a) Locking b) Locket c) Lockit d) Locking

40. I hereby ___________ you to receive the SIM card.
a) have authorised b) am authorising c) authorise d) authorised

41. I know you by face, but I cannot ______________ your name.
a) call up b) call on c) call for d) call in

42. Water _____________ at 00 centigrade.
a) will freeze b) freez c) freezes d) can freeze

43. If you select the reverse gear, the car __________ backwards.
a) will go b) would go c) can go d) goes

44. This is the best book I ______________
a) have ever read b) ever read c) had ever read d) read ever
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45. A stich _____________ time saves nine.
a) at b) on c) in d) to

In each of the following questions, a sentence has been given in Active OR Passive Voice. Out of the four alternatives
suggested, select the one which best expresses the same sentence in passive or active voice.

46. The man was released on bail.
a) The magistrate released on bail the man. b) The court released the man on bail.
c) The jail released the man on bail d) The advocate released the man on bail.

47. We hope that we shall win the match.
a) The match is hoped to be won. b)Match winning is our hope
c) Winning the match is hoped by us. d) It is hoped that the match will be won by us.

48. Darjeeling grows tea.
a) Tea is grown in Darjeeling b) Tea grows in Darjeeling
c) Tea is being grown in Darjeeling d) Let the tea be grown in Darjeeling

49. Who teaches you English ?
a) English is taught by whom ? b) By whom will you be taught English ?
c) By whom can you be taught English ? d) By whom are you taught English ?

50. Mecca is sacred __________ Muslims all over the world
a) to b) for c) with d) of

General Mathematics / açWýç»S G×STö

51. One fourth of one third of two fifth of a number is 20. What will be 40% of that number?
AOôç aeFîç» VÇ+ Y�û]çe`» AEõ TÊöTöÝÌ̂ çe`» AEõ $JôTÇöUïçe` 20 c÷'ã_ aeFîçäOôç» 40% ×Eõ]çX c÷'[ý ?
a) 270 b) 350 c) 140 d) 240

52. A system of two linear equations has infinitely many solutions when–
VÇOôç é»×FEõ a]ÝEõ»S» %aeFî a]çWýçX c÷'[ý ̂ ×V----
a) There is no point of intersection for the given lines/YÒVwø a]ÝEõ»S¥ãÌ̂  ×XãVÛ̀  Eõ»ç å»Fç VÇQöç_» åEõçãXç æ$K÷V×[ý³VÇ Xç+
b) There is one point of intersection for the given lines/YÒVwø a]ÝEõ»S¥ãÌ̂  ×XãVÛ̀  Eõ»ç å»Fç VÇQöç_» ]çy AOôç æ$K÷V×[ý³VÇ UçãEõ
c) The given lines are coincident/YÒVwø a]ÝEõ»S¥ãÌ̂  ×XãVÛ̀  Eõ»ç å»Fç VÇQöç_ aeYçTöÝ c÷Ì̂
d) None of these/A+ã[ýç»» AOôçC Xc÷Ì̂

53. The rational expression form of 2

2
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1
1

11
1

x

x

x

x

x

x
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+÷


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
 −

+







−
+  is–

2
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1
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x

x

x

x

x
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−
+÷





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






−
+  » Y×»ã]Ì̂  »ÖY c÷'[ý---
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1
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−
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1
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−
c) 21

1
x+ d)

1

1
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−
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54. If the radii of two circles are 5cm., 6cm. respectively and the distance between their centres is 10cm., then the number
of common tangents that can be drawn to the two circles is–
VÇOôç [ýÊwø» [ýîçaç�ùÛ yÔã] 5cm. %ç»Ó 6cm. %ç»Ó [ýÊwø VÇOôç» åEõ³VÐ» ]çL» VÉ»±¼ö ^×V 10cm. c÷Ì̂  åTöãÜ�ö [ýÊwø VÇOôçê_ Oôç×X[ý Y»ç açWýç»S & ï̀Eõ»
aeFîçc÷'[ý------
a) 2 b) 3 c) 1 d) 4

55. 3
3

4

2
22

222 −
+

+

+
×

×−
n

nn

 is equal to–

3
3

4

2
22

222 −
+

+

+
×

×−
n

nn

  » ]çX c÷'[ý----

a) 12 +n b) 




 − n2
8

9
c) 





 +− +

8

1
2 1n

d) 1

56. The total age of A and B is 12 years more than the total age of B and C. C is how many years younger than A?
A %ç»Ó B » ]ÇPö [ýÌ̂ a B %ç»Ó C » ]ÇPö [ýÌ̂ aTöêEõ 12 [ý$K÷» å[ý×$K÷* C, A TöêEõ åEõ+ [ý$K÷»» a»Ó c÷'[ý ?
a) 12 b) 24
c) C is elder than A /C » [ýÌ̂ a A TöêEõ å[ý×$K÷ d) None of these/+Ì̂ çã» AOôçC Xc÷Ì̂

57. The no. of balls, each of radius 2cm. that can be made from a solid sphere of lead of radius 8cm is–
8cm. [ýîaç�ùÛ ×[ý×`rô AOôç aÝc÷» åGçOôç åGç_Eõ» Y»ç 2cm. [ýîçaç�ùÛ» åEõ+Oôç [ý_ éTöÌ̂ ç» Eõ×»[ý Yç×»----
a) 8 b) 24 c) 64 d) 512

58. A and B are partners in a business. A contributes 
4

1
 of the capital for 1 year 3 months and B received 

3

2
 of the profit.

For how long B’s money was invested?

A %ç»Ó B VÇãÌ̂ ç AOôç [ýî¾açÌ̂ » %e`ÝVç»* A åÌ̂  1 [ý$K÷» 3 ]çc÷» [ýçã[ý ]É_WýX» 
4

1
 %e` FOôçÌ̂  %ç»Ó B åÌ̂  _ç\ö» 

3

2
 %e` Yçã_* B åÌ̂  ×Eõ]çX

×VX» [ýçã[ý åTöCg» ]É_WýX FOôç+×$K÷_ ?
a) 6 months/]çc÷ b) 9 months/]çc÷ c) 10 months/]çc÷ d) 1 year/[ý$K÷»

59. One of the factors of babaxbabxaxa 423323532 22 −++−+  is–

babaxbabxaxa 423323532 22 −++−+  » AOôç =dYçVEõ c÷'[ý----
a) a + b b) x – a c) x + a d) x2 + ax + a2

60. If 
5

4=
b

a
 and 

16

15=
c

b
, then 22

22

ac

ac

+
−

 is–

^×V 
5

4=
b

a
 %ç»Ó 

16

15=
c

b
 åTöãÜ� ö 22

22

ac

ac

+
−

 » ]çX c÷'[ý----

a)
7

1
b)

25

7

c)
4

3
d) None of these/+Ì̂ çã» AOôçC Xc÷Ì̂
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61. The circumference of a circle is 100cm. The side of a square inscribed in the circle is–
AOôç [ýÊwø» Y×»×Wý 100cm. [ýÊwøäOôç» ×\öTö»Tö %çg×Eõ[ý Y»ç [ýGï AOôç» [ýç§» éVHïî c÷'[ý---

a) 250 cm. b)
ð

100
cm. c)

ð

2100
cm. d)

ð

250
cm.

62. For what values of ‘a’, both the roots of the equation ( ) 0322 2 =++−− aaxxa  will be equal?

‘a’ » ×Eõ ]çX» [ýçã[ý, ( ) 0322 2 =++−− aaxxa  a]ÝEõ»S»äOôç» ]É_ VÇOôç AãEõ c÷'[ý ?
a) a = 6 b) a = 16 c) a < 6 d) a > 6

63. A man buys Rs. 50 shares in a company which pays 10% dividend. If the man gets 12.5% on his investment, at what
price did he buy the shares?
ALX ]çXÇãc÷ AOôç åEõç�ç×X» 50 OôEõÝÌ̂ ç å �̀Ì̂ ç» ×EõXçTö åEõç�ç×XãÌ̂  10% _ç\ö ×VãÌ̂ * ̂ ×V ]çXÇc÷LãX åTöCg» ]É_WýX» 12.5% YçÌ̂  åTöãÜ�ö ×Eõ]çX
OôEõçTö åTöCg å �̀Ì̂ ç» ×Eõ×X×$K÷_ ?
a) Rs. 37.50 b) Rs. 40 c) Rs. 48 d) Rs. 52

64. The angle of elevation of the sun, when the length of the shadow of a tree is 3  times the height of the tree, is–

AOôç G$K÷» $Kg÷ç» =¬JôTöç G$K÷äOôç» =¬JôTöçTöêEõ 3  mS å[ý×$K÷ c÷'ã_ aÉ̂ ï» =~×Tö» ]çX c÷'[ý----
a) 30º b) 45º c) 60º d) 90º

65. If 2
64222

−=
−−

−++
zxyzxy

zyx  and zyx 3=+ , then the value of z is–

^×V  2
64222

−=
−−

−++
zxyzxy

zyx  %ç»Ó zyx 3=+ , åTöãÜ�ö  z  » ]çX c÷'[ý-----

a) 2 b) 3 c) 4
d) None of these/+Ì̂ çã» AOôçC Xc÷Ì̂

66. The value of ( )39.09.04.03.02.0 ++++  is–

( )39.09.04.03.02.0 ++++  » ]çX c÷'[ý-----

a) 57.0 b)
33

20
1 c)

3

1
2 d)

33

13
2

67. The length of the longest rod that can be placed in a room 16m. long, 12m. broad and 
3

2
10 m. high, is–

16m. VÝH_, 12m. [ýc÷_ %ç»Ó 
3

2
10 m. =¬JôTöç» AOôç åEõçPöç_ÝTö »ç×F[ý Y»ç %çOôç+TöêEõ VÝH_ å_ç» V�ø»  éVHï c÷'[ý----

a)
3

1
22 m. b)

3

2
22 m. c) 23m. d) 68m.

68. The slant height of a right circular cone is 10m. and its height is 8m. Its approximate curved surface area is–
a]ãEõçSÝ ̀ eEÇõ» ARô_ÝÌ̂ ç =¬JôTöç 10m. %ç»Ó +Ì̂ ç» =¬JôTöç  8m. c÷'ã_ +Ì̂ ç» [ýyÔÝÌ̂  Tö_» Eõç×_» ]çX (YÒçÌ̂ ) c÷'[ý----
a) 198.5m2 b) 188.5m2 c) 180.5m2 d) 185.5m2
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69. If a:b = c:d, then (a – b):b=(c – d):d. This operation is called–
^×V a:b = c:d, åTöãÜ�ö (a – b):b=(c – d):d. A+ Y�ù×TöãOôçEõ åEõç¾ç c÷Ì̂ ---
a) Alternendo/AEõçÜ�ö» ×yÔÌ̂ ç b) Componendo/å^çG ×yÔÌ̂ ç
c) Dividendo/\öçG ×yÔÌ̂ ç d) Componendo and dividendo/å^çG-\öçG ×yÔÌ̂ ç

70. The locus of the mid points of radii of a circle of radius 10cm. is–
10cm. [ýîçaç�ùÛ ×[ý×`rô AOôç [ýÊwø» [ýîçaç�ïùã[ýç»» ]Wýî ×[ý³VÇ» a�ûç» YU c÷'[ý----
a) A concentric circle of radius 5cm. /5cm. [ýîçaç�ùÛ» AEõãEõ×³VÐEõ AOôç [ýÊwø
b) A concentric circle of radius 10cm. /10cm. [ýîçaç�ùÛ» AEõãEõ×³VÐEõ AOôç [ýÊwø
c) A concentric circle of radius 5.5cm. /5.5cm. [ýîçaç�ùÛ» AEõãEõ×³VÐEõ AOôç [ýÊwø
d) None of these/+Ì̂ çã» AOôçC Xc÷Ì̂

71. The equation of the straight line passing through (2,  3) and parallel to 0432 =+− yx  is–

0432 =+− yx  » a]çÜ�ö»ç_ %ç»Ó (2,  3) ×[ý³VÇã¾×V Yç» éc÷ å^ç¾ç AOôç a»_ å»Fç» a]ÝEõ»S c÷'[ý----
a) 0532 =−+ yx b) 0523 =+− yx c) 0532 =+− yx d) 0532 =−− yx

72. Given that in ÄABC, E and F are the points on AB  and AC respectively such that BC | |EF , then the false one among
the following is–

ÄABC» AB  %ç»Ó AC [ýç§» CY»Tö yÔã] E %ç»Ó F ×[ý³VÇ AãXVã» %çä$K÷ ^çãTö BC | |EF  åTöãÜ�ö Tö_» \Çö_ =×NþäOôç c÷'[ý-----

a)
AC

AF

AB

AE = b)
FC

AF

EB

AE = c)
AB

AF

AC

AE = d)
CF

BE

AF

AE =

73. y
1
 and y

2
 are the values of ‘y’ corresponding to the values x

1
 and x

2
 of ‘x’. If x and y are in inverse proportion, then–

x » ]çX x
1
,  x

2
 %ç»Ó %XÇ»ÖY y » ]çX  y

1
,  y

2
 c÷Ì̂ * ^×V  x %ç»Ó y ×[ýY»ÝTö a]çXÇYçTöÝ c÷Ì̂ , åTöãÜ�ö-----

a) 1221 yxyx = b)
2

2

1

1

y

x

y

x = c)
1

2

2

1

y

y

x

x = d) 2121 yyxx =

74. ( ) ( )( ) ?11
3

1
12 2

42

2

=++




 −− èCotCosè
èè.CosSec

èSin
Cosè

a) 1 b)
3

1
c)

3

2
d) Sinè

75. The law of sets ( ) ( ) ( )CABACBA −−=− UI  is known as–

aec÷×Tö» ×[ý×Wý ( ) ( ) ( )CABACBA −−=− UI  c÷'_---
a) Distributive law/×[ýTö»S ×[ý×Wý b) Associative law/ac÷ã^çG ×[ý×Wý
c) De Morgan’s law/×Qö. ]GïçX» ×[ý×Wý d) Commutative law/×[ý×X]Ì̂  ×[ý×Wý
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General Science / açWýç»S ×[ýpûçX

76. Which of the following white blood corpuscles produces antibodies
Tö_» åEõçX×[ýWý å �̀Tö »Nþ Eõ×SEõç+ YÒ×TöãVc÷ aÊ×rô Eõã»---
a) Neutrophils/×X=®Ïô×Zõ_ b) Lymphocytes/_ç+]ãZõç$K÷ç+Oô
c) Monocyte/]ãXç$K÷ç+Oô d) Basophils/å[ýä$K÷ç×Zõ_

77. Which of the following is called ‘brine’ ?
Tö_» åEõçXäOôç VÐ¾Eõ "[ýÐç+X' åEõç¾ç c÷Ì̂
a) KCl soln b) MgCl

2
 soln c) NaCl soln d) None of these/AOôçC Xc÷Ì̂

78. Laughing Gas is
_ç×Zõe åG$K÷ c÷'_---
a) NO b) N

2
O c) NO

2
d) SO

2

79. Which of the following is the largest unit ?
Tö_» åEõçXäOôç %çOôç+TöêEõ QöçIø» AEõEõ ?
a) Megabyte/å]Gç[ýç+Oô b) Kilobyte/×Eõã_ç[ýç+Oô c) Gigabyte/×GGç[ýç+Oô d) Terabyte/æOô»ç[ýç+Oô

80. The critical angle for glass is 45º. What is its refractive index ?
Egõç$Jô» aeEõOô åEõçS c÷'_ 45º* +Ì̂ ç» YÒ×Töa»SçeEõ c÷'_---
a) 1.2 b) 1.25 c) 1.32 d) 1.41

81. A current of 4 ampere from 250 V source flows through an electric iron for one hour. The energy consumed is–
250V =da» Y»ç 4 A×�Ì̂ ç» YÒ[ýçc÷ AOôç é[ýVÇî×TöEõ +×Ø�ö» ]çãLã» AEõ H³Oôç» Eõç»ãS YÒ[ýç×c÷Tö c÷Ì̂ * F»$Jô åc÷ç¾ç ̀ ×Nþ» Y×»]çS c÷'_--
a) 2 Kwh/2 ×Eõ_'¾çOô H³Oôç b) 1 wh/1 ¾çOô H³Oôç
c) 1 Kwh/1 ×Eõ_'¾çOô H³Oôç d) 4 Kwh/4 ×Eõ_'¾çOô H³Oôç

82. The chemical commonly used to adulterate turmeric powder is–
c÷ç_×V m×QÍö å\öLç_Eõ»S» [ýçã[ý [ýî¾c÷ç» Eõ»ç açWýç»S »çaçÌ̂ ×XEõ VÐ[ýî c÷'_---
a) Metanil yellow/å]Oôç×X_ c÷ç_WýÝÌ̂ ç b) Sunset yellow/aÉ̂ ïîçØ�ö [ý»S» c÷ç_WýÝÌ̂ ç
c) Brick powder/+Oôç m×QÍö d) Orange yellow/aÇ]×U»ç c÷ç_WýÝÌ̂ ç

83. The image formed by a convex mirror of focal length 30 cm is a quarter of the size of the object. The distance of the
object from the mirror is–
30 æ$K÷f×]f ZõEõç$K÷ éVHïî» =wø_ VçãYçãX GPöX Eõ»ç YÒ×Tö×[ý¶�ö» =¬JôTöç _lùî[ýØ�Çö» =¬JôTöç» AEõ $JôTÇöUïçe`* VçãYçX» Y»ç _lùî[ýØ�Çö» VÉ»±¼ö c÷'_---
a) 90 cm b) 30 cm c) 60 cm d) 120 cm

84. If the length of a wire is doubled, then its resistance–
AQöç_ Y×»[ýçc÷Ý Tgöç»» éVHïî VÇmS Eõ×»ã_, +Ì̂ ç» å»çWý c÷'[ý---
a) is doubled/VÇmS b) becomes half/%çWýç
c) remains the same/AãEõ UçãEõ d) None of these/A+ã[ýç»» AOôçC Xc÷Ì̂

85. Which of the following is the best conductor of electricity ?
Tö_» åEõçXäOôç %çOôç+TöêEõ =wø] é[ýVÇî×TöEõ Y×»[ýçc÷Ý----
a) Copper/EõYç» b) Gold/åaçS c) Zinc/VØ�öç d) Silver/×$K÷_\öç»
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86. A piece of magnesium ribbon is heated to redness in the atmosphere of nitrogen and cooked with water. The evolved
gas is–
Xç+®ÏôãLX» =Y×Ø�ö×TöTö å]GãX×$K÷Ì̂ ç]» ×ZõOôç AOÇôEÇõ»ç »Iøç åc÷ç¾çêEõ =wø� Eõ»ç c÷_ %ç»Ó ×Y$K÷Tö YçXÝTö Pöç�øç Eõ»ç c÷'_* =dY~ åc÷ç¾ç åG$K÷ c÷'_--
a) H

2
b) N

2
c) O

2
d) NH

3

87. Skin becomes yellow in concentrated nitric acid because–
GçRÍô Xç+×®ÏôEõ A×$K÷Qö Y×»ã_ $K÷ç_ c÷ç_WýÝÌ̂ ç åc÷ç¾ç» Eõç»S c÷'_---
a) HNO

3
 acts as dehydrating agent/HNO

3
åÌ̂  £�õ Eõç»Eõ ×c÷$JôçãY Eõç] Eõã»

b) HNO
3
 acts as oxidising agent /HNO

3
åÌ̂  Lç»Eõ ×c÷$JôçãY Eõç] Eõã»

c) Nitro cellulose is formed/Xç+®Ïô æ$K÷_Ç_L GPöX c÷Ì̂
d) Proteins are converted to xanthoproteins/YÒ'×OôX åLXãUç YÒ×OôXê_ Y×»¾×TöÛTö c÷Ì̂ *

88. Which of the following series of elements will have nearly the same atomic radii?
Tö_» åEõçXã[ýç» å]ì_» YÒçÌ̂  AãEõ Yç»]çS×¾Eõ [ýîçaç�ùÛ UçãEõ ?
a) Fe, Co, Ni, Cu b) Na, K, Rb, Cs c) F, Cl, Br, I d) Li, Be, B, C

89. Oleum is chemically–
»çaçÌ̂ ×XEõ\öçã[ý %×_Ì̂ ç] c÷'_----
a) H

2
SO

4
b) H

2
SO

5
c) H

2
S

2
O

7
d) H

2
S

2
O

8

90. The alloy ‘Duralumin’ is used in making aircrafts, ships, pressure cookers etc. It is an alloy of–
=»çLçc÷çL, Lçc÷çL, æYÒ$K÷ç» EÇõEõç» +Töîç×V YÒØ�ÇöTö Eõã»çãTö "QÇö»ç_Ç×]X' aeEõ» WýçTÇö [ýî¾c÷ç» Eõ»ç c÷Ì̂ * A+äOôç Tö_» åEõçXã[ýç»» aeEõ» WýçTÇö c÷Ì̂  ?
a) Fe, Cr, Ni, Cu, b) Al, Cu, Mg, Mn c) Cu, Zn, Ni d) Fe, Ni, C

91. A convex lens of focal length 10 cm is used as a simple microscope. Its magnifying power is–
10 æ$K÷f×]f ZõEõç$K÷ éVHïî» AFX =wø_ å_³a a»_ %XÇ[ýÝlùS ̂ Ü�ö ×c÷$JôçãY [ýî¾c÷ç» Eõ»ç c÷Ì̂ * +Ì̂ ç» Y×»[ý�ùÛX lù]Töç c÷'_----
a) 3.5 b) 0.1 c) 10 d) 2.5

92. When two charged conductors are connected by a conducting wire, then charge will not flow if the conductors are of–
VÇQöç_ %çWýçX Ç̂Nþ Y×»[ýçc÷Ý AQöç_ Y×»[ýçc÷Ý Tgöçã»ã» aeã^çG Eõ×»ã_ %çWýçX $Jô_ç$Jô_ Xc÷Ì̂  ̂ ×V YÒVwø Y×»[ýçc÷Ý¥Ì̂ --
a) Same capacity/AãEõ Wýç»S lù]Töç» c÷Ì̂ b) Same potential/AãEõ ×[ý\ö¾» c÷Ì̂
c) Same charge/AãEõ %çWýçX Ç̂Nþ c÷Ì̂ d) Same electrical energy/AãEõ é[ýVÇî×TöEõ ̀ ×Nþ» c÷Ì̂

93. The smallest resistance obtained by connecting 50 resistances of 
4

1
 ohm each is–

4

1
C] å»çWý ×[ý×`rô 50 Oôç å»çWý aeã^çG Eõ×» åYç¾ç XÉîXTö] å»çWý c÷'_----

a) Ω
4

50
b) Ω

50

4
c) 200Ω d) Ω

200

1

94. Weightlessness experienced while orbiting the earth in a spaceship is the result of –
]c÷ç É̀SîTö YÊ×U¾ÝEõ YÒV×lùS Eõã»çãTö CLXc÷ÝXTöç» Eõç»S c÷'_---
a) Acceleration/±¼ö»S b) Inertia/LQÍöTöç
c) Zero gravity/ É̀Sî ]WýîçEõbïS d) Centre of gravity/\ö»ãEõ³VÐ

95. Hydrogen peroxide acts in bleaching as an –
×[ýÀ×$K÷IøTö c÷ç+QÎöãLX åY»'jç+Qö c÷'_----
a) Oxidising agent/Lç»Eõ YVçUï b) Reducing agent/×[ýLç»Eõ YVçUï
c) Connecting agent/aeã^çGEõç»Ý YVçUï d) None of these/A+ã[ýç»» AOôçC Xc÷Ì̂
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96. When metals such as sodium, potassium etc react with ammonia, ___________ are formed.
$K÷×QöÌ̂ ç], YOôç×$K÷Ì̂ ç] +Töîç×V WýçTÇöã¾ Aã]ç×XÌ̂ ç» _GTö ×[ý×yÔÌ̂ ç Eõ×»ã_---------------------------- =dY~ c÷Ì̂  ?
a) Oxides/%jç+Qö b) Nitrites/Xç+®Ïôç+Oô c) Nitrates/Xç+ä®ÏôOô d) Amides/A]ç+Qö

97. Curdling of milk in the stomach is due to the action of–
Tö_» åEõçXäOôç» [ýçã[ý YçEõØ�ö_ÝTö GçFÝ» éV é_ »ÖYçÜ�ö×»Tö c÷Ì̂  ---
a) Pepsin/åYY×$JôX b) Renin/å»×XX c) HCl d) Trypsin/×®ÏôY×$JôX

98. The term ‘Hormone’ was introduced first by–
"c÷»]X' ̀ �äOôç åEõçãX YÒUã] [ýî¾c÷ç» Eõ×»×$K÷_ ?
a) Robert Brown/»[ýçOôÛ [ýÐç=X b) Starling/rôç»×_e
c) Altman/%ç·Oôã]X d) Bend/å[ý�ø

99. The steel which is used for making permanent magnets is–
Ø�öçÌ̂ Ý $JÇô¶�öEõ [ýXç[ýê_ [ýî¾c÷ç» Eõ»ç TöÝFç c÷'_---
a) Cobalt steel/åEõç[ýç·Oô TöÝFç b) Silica Steel/×$K÷×_Eõç TöÝFç
c) Stainless steel/×X�õ_áø TöÝFç d) None of these/AOôçC Xc÷Ì̂

100. Fill in the blank in the following equation with the suitable choice–
=Y Ç̂Nþ ̀ �ã» Fç_ÝPöç+ YÉSï Eõ»ç*

2612622 6 O................OHCO1 2 H6 C O ++ →+
a) 4H

2
O b) 2H

2
O c) 6H

2
O d) 8H

2
O

* * * * *
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